The waiting time to be seen at a hospital accident and emergency department was surveyed over a period of time.  The table below shows the times, t in minutes, patients waited to be treated during one particular day.  A histogram is constructed to illustrate this information.

	Waiting Time, t (mins)
	Frequency

	0 ≤ t < 20
	20

	20 ≤ t < 30
	17

	30 ≤ t < 40
	14

	40 ≤ t < 60
	

	60 ≤ t < 100
	12

	100 ≤ t < 180
	8
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(a)	Find the value of .
(b)	Complete the histogram.
(c)	Estimate the median waiting time.
(d)	What percentage of patients had to wait for more than 90 minutes?
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(c)	Median = 45th piece of data.  This lies in the 30 ≤ t < 40 group (8 into the group)
	Median = 30 + 8/1.4 = 35.7

(d)	More than 90 minutes = ¼ of the 60 ≤ t < 100 group + 100 ≤ t < 180
				= ¼ x 12 + 8 = 11
	Percentage = 11 ÷ 89 x 100 = 12.36%
























A call centre recorded the length of time, in seconds, they spoke to customers on a particular day.
The information is recorded in the table.

	Time, t (seconds)
	Frequency

	0 ≤ t < 20
	61

	20 ≤ t < 60
	82

	60 ≤ t < 120
	

	120 ≤ t < 200
	19



The mean length of time was 51.75 seconds.
Find the value of 



Mid points are 10, 40, 90 and 160.









































90 year 11 students were asked to name their favourite football team.  The results are shown in the table below.

	Team
	Frequency

	Arsenal
	6

	Chelsea
	9

	Liverpool
	11

	Manchester City
	7

	Manchester United
	12

	Sheffield United
	21

	Sheffield Wednesday
	16

	No Team
	8



(a)	Draw a pie chart to illustrate this information.
(b)	A year 11 student is chosen at random.
What is the probability they support Sheffield United?

(a)	Degrees per student = 360˚ ÷ 90 = 4˚
	Angles:  Arsenal = 24˚	Chelsea = 36˚	Liverpool = 44˚	  Manchester City = 28˚
		Manchester United = 48˚    Sheffield United = 84˚   Sheffield Wednesday = 64˚
		No Team = 32˚
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